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The Pinehurst Outlook

The Mid-April Tournament

Seconp SixTEEN—FIrsT ROUND

S. P. RANDOLPH, ]Jr., of Lakewood, N. J., won the
P annual Mid-April golf tournament which came to a close
® on Saturday last, defeating R. C. Steese, of Youngstown,
2 and 1 in the final round. The final match was played in a gale
of wind, but the winner managed to complete the round under the
80 mark. Steese disposed of the first nine holes in 39 but did not
play so well in the second half. He was 1 up at the eighth and
made himself 2 up at the turn by going down in 2 on the short
ninth, Randolph started his winning streak at the tenth and over-
took and passed his opponent by playing the first four holes of the
inward journey in a total only a stroke over the par aggregate,
winning all four of them. This gave Randolph a two-hole lead
which he held until the finish.

One of the outstanding features of the tournament was the victory
of Oliver S. Redfield in the second division. Oliver is just 18 years
of age, but he qualified well up in his division and after working
his way through the match rounds he met Nat S. Hurd in the finals
whom he defeated, 1 up, at the end of a 19-hole struggle.

D. Frank Dillon, of Fitchburg, won the third division trophy and
S. Y. Ramage, J. W. Townsend and C. W, Myers carried off chief
honors in the fourth, fifth and sixth divisions respectively.

The summary follows:

First SIXTEEN—FIRST ROUND

P. S. P. Randolph, Jr., defeated C. H. Halstead..........3 and 2
E. C. Beall defeated W, H. Stalker .................... 5 and 4
M. F. O'Connell defeated T. A. Cheatham. ......... .. . by default
J. D. Armstrong defeated A. S. Higgins............... 3 and 2
Francis T. Keating defeated E. L. Scofield (20 holes).....1 up

C. B. Fownes defeated W. A. Rupp .........coovuvnn.. 7 and 6
T. Morrison defeated A. H. Ramage..................2 and 1
R. C. Steese defeated J. S. Brown..................... 4 and 3
_ SEcoNp Rounp

Randolph defeated Beall ............................. 7 and 6
Armstrong defeated O'Connell ........................ 2 and 1
Fownes defeated Keating ..............civtvnivnnsnsen 3 and 2
Steese defeated Morrison ..........c.oviiiviennnnnn.. 4 and 3

SEMI-FINALS
Randolph defeated Armstrong ........................5and 3
Steese defeated Fownes ......................cc.uun.. 2 up
FinaL
Randolph defeated Steese ..............cooviviiiui... 2 and 1
CoNsoLATION FINAL
Scofield defeated Higging ——. ... .oveviuvin s vevn insasess 6 and 5
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O. S. Redfield defeated R. H. Hunt .................. 5 and 3
Eric Thompson defeated P, S, Maclaughlin (20 holes)....1 up
C. S. Strout defeated C. A. McCormick. . ... A A 3 and 2
H. P, Puger defeated H. S. Doty ..................... 2 and 1
N. S. Hurd defeated George Reid .................... 4 and 3
H. C. Fownes defeated H. B. Swoope ................ 4 and 2
J. F. Daily defeated E. H. Wiswell .................,. 5 and 3
C. H. Rudel defeated H. Bradford Lewis .............. 2 up
Seconp Rounp
Redfield defeated Thompson ...........ccovviiiinann. 2 and 1
Stroat defeated PHUEEr ....cocomvims corasmens on coss s and 1
Hurd defeated Fownes ........oviiiiiiniinninrinnnns 5 and 4
Daily defeated Rudell ., oo vennnns vosesismmes oo va svne 3 and 2
Semi-FinaLs
Redfield defeated Strout ............................3 and 2
Hurd defeated Dally i ovcvivins sa is seoesawnins saise v 2 and 1
FinaL
Redfield defeated Hurd (19holes) ..........covviiiunn. 1 up
ConsorLaTioN FiNAL
Maclaughlin defeated Wiswell (19 holes) .............. 1 up
Other division winners were :
Trairp SixTEEN—FI1NAL
D. F. Dillon defeated C. B. Hollingsworth ............. 6 and 4
CONSOLATION
C. W. B. Townsend won from C. H. Tenny ............ hy default
Fourtr SIXxTEEN—FINAL
S. Y. Ramage defeated P. S. P. Randolph, Sr........... 2 and 1
CONSOLATION
Norwood Johnston defeated D. E. Waid ................ 2 and 1
FFirrn SIXTEEN—FINAL
J. P. Townsend defeated G. Worthington ............... 1 up
CONSOLATION
R. C. Blancke defeated J. F. Mitchell .................. 2 up
SixTH SIXTEEN—FINAL
C. W. Myers defeated S. F. Penman ...................5 and 4
CONSOLATION
N. B. Hersloft defeated G. [.. Magergee ................ 1 up
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